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PHYSICS (SECTION-A)

1. S.I. unit of universal gas aenetant (R) is

(a) Watt K~ Mol™* (b) NK~ Mol
(c)JK Mol  (d)ergk Mol
2. The unit of Stefan’s constant is —
(a) Joule Sec tmeter 2K*

(b) Kg. Sec 3K™*

(c) Watt meter 2K*

(d) Newton Meter 2K ~*

3. The dimension of formula for planks
constant (h) is —

@[ML™2T *](b)[ML™2T %]
(¢) [ML7T(d)[ML™2T~?]

4. Error in the measurement of radius of a
sphere is 1%. Then error in the
measurement of volume is —

(a) 1 % (b) 5%

(c) 3% (d) 8%

5. A body starting from rest moves along a
straight line with constant acceleration.
Then variation of speed (v) with distances

(s)1s —
(a) [V

(c)

(b) ‘
(d) ‘

1. Arafe 9 fFadaie(R) #1S.1. uefa A
AHD B

(a) dfe dfeas ' #AreT |
(b) = dfeas ' #Ara

(c) Sfef Bfea ' et
(d) arf dfeas " e

1

2 B fRIdis &1 A5 ¢ |
(2) St Fpve ! #ex ? Bea
(b) faum Awve Bfeaw *

(¢) dfc Hex * dfeas *

(d) =e Hier dFve 'DfeaT

3l fadis(h) & i 93 &
(a)[ML=2T](b)[ML™>T ~?]

(c) [ML™2T](d)[ML™2T~?]

47Tt @ B & A H Fe1%E, @
T & AT H e g

(a) 1 % (b) 5%
(c) 3% (d) 8%
506 fUvs foRmra=en & el x@r &

e e RO A AT AR
dHRATE [A1 ATl BT G0 & 1 HUTRE:

(@) )

©) d) 1

v



6. Which one of the following graphs as
shown in figure.

(a (bi
— > —
© T t @v? \

7. Volocity-time graphs AB shows that the
body has—

(a) A uniform acceleration
(b) A uniform setaralation [

(¢) Uniform Speed

—
(d) Initial velocity oA and is moving with

uniform retardation.

8. Decibel is :-

(a) A musical instrument

(b) The wave length of noice
(c) A measure of sound level
(d) A musical note

Ep . . .
=2 in S.I. unit is:
Ko

9. Dimension of

(Q)[A"ITML™3]  (b)[A~2T3M1L2]
(c) [AT2M*L 1)(d)[AT ~3ML3?]

10. If E and G represent Energy and
gravitational constant respectfully then the
dimension of E/G is —

@[M][LH T () [M][LO][T]

(c) [AT ML (M) [L™][T°]

6.Th FA Tfd A T I Hhad B arel

% 2 |4 4

@sg| (O
E— ;

(c) s (d) v
|2, \=

e —

7.97—99g UT% AB Twiiar g & fivs
GdT & —

(a) U FHIA ol

(b) T AT aHEh

(c) v FHE Tt

(d) yRf™® 97 OA 3R Tdh |H°H
JaHEH ® AT T

8. ST

(@) U® arerds ®

(b) IR &1 TR &

(€) &afy ¥R &1 Us AU

(d) & Hfa wRe ©

0. THATE THIE | \/Mi = oy
(Q[A"ITML™3]  (b)[A2T3M1L 2]
(c) [AT2M1L](d)[AT ~3ML32]

10. af¢ E T2 G LT ol a7 RN
i @1 UeRid #=d g, o E/G @1 fam
2rfi—

@[M]L T 1) [M][LO][T]

(c) [AT ML (M) [L7][T°]



11. The Particle moving with uniform speed in
a circular path maintains

(a)  Constant
acceleration.

velocity  leut  varying

(b) Varying velocity and varying acceleration
(c) Constant velocity
(d) Constant acceleration

12. Taking in to account of the significant
figures,what is the value of 9.99m-0.0099m

(2) 9.9 M (b)9.9801 M

(c)9.98 M (d)9.980 M

13. A Screw gauge has least count of 0.01 mm
and there are so divisions in its circular scale.
The Pitch of the screw gauge is

(a) 1.0 mm (b) 0.01lmm

(c) 0.25 mm (d) 0.5 mm

14. If speed v area a and force f are choosen as
fundamental units, then the dimensional
formula of young’s modulus will be —

(a) [FA*V ] (b) [FA?V ]

(c) [FA?V ] (d) [FA'V°]

15. In an experiment, the percentage of error
occurred in the measurement of physical
quantities A,B,C, and D are 1%, 2%, 3%, and
4% respectively. Then the maximum
percentage of error in the measurement X,

where x=AZBz

D3C2
(a) (3/13)% (b) 16 %
(c)-10% (d) 10%

11.7% JTdR 9 W Udh FHF arel | TR
Tch HUT SIRT Y& & |

(a) Fd a1 w=R=g gRaedT w@Ror
(b) uRacit o1 vd g wror
() frramar

(d) Frae o

12. A1f& 3P DI HEW <l Y 9.99m BT A

R T
(2) 9.9 M (6)9.9801 M

(c) 9.98 M (d)9.980 M

13. &0 WIS &7 Sfeuadid 0.01mm & qeim
9D geild YA TR 50 HET 8 | §91 Tehilol ol
TS IRIA & |

(a) 1.0 mm (b) 0.0lmm

(c) 0.25 mm (d) 0.5 mm

14, I A1 V &bl A der 91 F &1 9=

Hifcres <IRT 719 foram S a1 A9 YIRerdy [oTid
@1 famm B8 |

(a) [FA*V ] (b) [FA?V ]

(c) [FA*V 7] (d) [FA7V°]

15, Tl TamT & Aifde ¥y A,B,C 8k D &
A9 H B aTell JfE BT IR A
1%,2%,3% 3R 4% T | a9 X @1 A, Sdfh

1
A%B2

1

D3C2
(a) (3/13)% (b) 16 %
(c) -10% (d) 10%



16. If the velocity of particle is v= At +Bt?,
where A and B are constants, then the
distance travelled by it between 1s and 2s is

(a)%A-+4b (b) 3A+78

LB

()2A+1B (d) +2

SRS

17.Two train, each 50 m long are travelling in
opposite direction with velocity 10m/s and 15
m/s. The time of crossing is

(a) 25 (b) 45

(c) 2V35 (d) 4V35

18. The relation 3t=V/3x+6 describe the
displacement of a particle in one direction
where x is in meters and tis in sec. The
displacement, when velocity is zero, is

(a)24 meters (b)12 meters

(c)5 meters (d)zero

19. A stone falls freely undergravity. It coners
distances hy, hygnqhs in the first 5 sec, the
next 5 sec, and the next 5 sec, the next5
sec, and the next 5 sec,respectively.The
relation between hy, hygnqhs is-

(@)hy=h,=hs3 (b) hy=2h;=3h;
(C)hy=22="2 (d) hy=3hy, h3=3h,

20. A small block slides without friction down an
inclined plane starting from rest. Let Sn be the

distance travelled from time t=n-1 to t=n, Then
Sn

is

Sn+1
2n—1 2n+1
(a)2n+1 (b)Zn—l
2n 2n—1
(C)Zn—l (d) 2n

16.3fe fHA BT BT T v== At +Bt?, 8, I

AT B fadie 8, I 9 HUT gRT 1S 3R 25 &

ra we T g @
(m§A+4b (b) 3A+7B

()ZA+2B (d)s+2

17. 50 Hex STH1S BT I NiSal IRER
famra faem # 109 /Idvs T 15 W /Ihvs B
9T ¥ wferefier 1 9 fhaw w99 # wa R @l
IR X o] |

(a) 25 (b) 45

(c) 2V/35 (d) 4V35

18.fH< wur & fa & fore favemue @t

THHET B R | 3t=V3x+6 Tt x Wex F qor

t AHvS H B, A HUT BT fORATIT T BT, o7
& a1 3= 2|

(a) 24 #rex (b)12 #Hrex

(c) 5 #HreR (d) T

19.7% YR Had w7 A Teare fRar 2| a8
TR U 5 AHUel # hy X, S T 5
ABvS H h, S TAT IEH 3MTel 5 ABUS H hg
0 T wRar g, @ hy, hy, hy 3 9% 7

(a)h1=h2=h3 (b) h1=2h2=3h3
ha _h3
(C)h1=?;=?; (d) hy=3hq, h3=3h,

20.faRmTeRe t=0 9 Udh BieT sifdh b d
JHad A A B IR Ragdqadr 2 | afe g1

t=h-19 t=h & 9= <6 gRT =&l T g Sn
& A —— T U exdl ¢ |

Sn+1
2n—1 2n+1
(a)2n+1 (b)Zn—l
2n 2n—1
(C)Zn—l (d) 2n



21. A ball is thrown vertically downword
with a velocity of 20 m/s from the top of a
tower.lt hits the ground after some time
with a velocity of 80 m/s. The height of

the tower is ( g=10m/s?).
(a) 300m (b) 360m
(c) 340m (d) 320m

22. When a bus suddenly takes a ture the
passengers are thrown out words because
of-

(a) Inertia of direction
(b)Acceleration of motion
(c)Speed of motion
(d)Both (b) and (c)

23. Humen heart is pumping blood with
constant velocity v m/sec. at the rate of m
kg/sec. The force required for this is

(a) M (b)Mv
(c)M/v (d)vZ (e)M%

24.The motion of rocket depand upon low

of conservation on of
(a)Mass (b)Kinetic energy

(c)Linees momentum (d)Angular
momentum

25.swimming is possible on account of
(a)First law of motion

(b) 2 law of motion

(c) 3 law of motion

(d) Newtons law of gravitation

21.fFA MR & Rer 9 6T 11 @1 20
Al /HHTE & T W AR A Bl 1T
2| /O GHI B 915 Ig g Yl U 80

A /ABvS & T A THA & | 39 HAR &

A8 8 g=10 W /HPpvs
(a) 300 Hiex (b) 360 Hex
(c) 340 HIex (d) 320 Hrex

22,519 U 99 JaHS Jedl 8, Al M1 W
IEX BT AR GFDPT AT & | SHDBT DN ¢ |

(@) faem &1 STs@
(b) e T RO
(c) iy &1 =me

(d) &1 (b) 3R (c)
23. 7199 €9 Yad B! T 9 v Ho /3o |
M fheiimd /Jdvs & X R Adiferd HReT 2 |

$A® foTU MMaead § BRI |

(a) M (b)Mv

(c)M/v (d)vC;—T
dv
(e)Mg

24. Jtpe B T fod wxewr & Rigra )
renRe 2 |

(b) wfast S
(d) ®rofrar |

(a) s
(c) el e
25. ST H ORAT ARG B Bl BRI o
(@) T B1 yoH

(b) wrfa &1 fg<ia raH

(c) i &1 e g

(d) =TT &1 THATHYT BT 14



26. It force and displacement of particle in
direction of force are doubled. Work done

would be-
(a)Double (b) 4 Times
(c) Half (d) % Times

27. A particle with total inergy E is moving
in a potential energy region U(x). motion
of the particle is restricted to the region

when
(a)U(x)<E (b)U(x)=0
(c) U(x) (d)U(x)>E

28.if the momentum of a body is
increased by 100% then the percentage

increase in the kinetic energy is-
(a)150% (b)200%
(c) 225% (d) 300%

29. Two masses of 1 gm and 4gm are
moving with equal kinetic energy. The
ratio of the magnitudes of their lineas
momentum is-

(a)4:1 (b)V2:1
(c) 1:2 (d) 1:16

30. In an inelastic collision, what is
conserved-

(a) Kinetic energy
(b) Momentum
(c) Both (a) and (b)

(d)Neither (a),(b)

26. Al g1 BI fa=m H BT & T 3R
fReITuT S 1 g R fear W A

fha=T BRI BT SR |

(a) &1 (b) = 1

(c) amer (d) % T

27.7% &1 @ ga Soil E 7 | Refas

St e U(x) & i &R R8T 8 1 8 | &l

$I T ST & Sl &, 59
(a)U(x)<E (b)U(x)=0
(c) U(x) (d)U(x)>E

28. Ife ¥ g% &1 AT 100% 9T faar
ST @ TTferst it # ufcrerd gfg 2Rf |

(a)150% (b)200%

(c) 225% (d) 300%

29.1 U9 9 4 UM & T fUve 9= faw
ol A T B W@ | 39D &I FI H
forafag gnfY |

(a)4:1 (b)V2:1

(c) 1:2 (d) 1:16

30.3UIRY Heaced H 7 W)fEd e 8-
(a) Trirst St

(b) et

(c) (a)a(b) e

(d)7 @ (a), Ti(b)



31. A man does a given amount of work 10
sec. Another man does the same amount
of work in 20 second. The ratio of the out
put power of. First man to the second man
is

(a)1 (b) 1/2
(c) 2/1 (d) None of these

32. A force f=4i-5j+3k is acting a point
r1=i+2j+3k, The torque acting about a
point 1,=3i-2j-3k is

(a) Zero (b) 42i-30j+6k

(c) 42i+30j+6k (d) 42i+30j-6k

33. If the radius of the earth is suddenly
contracts to half of its present value, then
the duration of day will be of

(a) 6 Hours (b) 12 Hours

(c) 18 Hours (d) 24 Hours

34. The rotational kinetic energy of a body
is E and its moment of inertia is |.The
angular momentum is —

(a) El (b) 2VEI
(c)V2EI (d) E/I

35. ‘Pascal- Second’ has dimension of
(a) Force

(b) Energy

(c) Pressure

(d) coefficient of viscosity

31. Ud JFfdd P BRI 10 JHhvS H Bl © |
U 3 Afdd ST BRI Bl 20 HbUvS H Bl

2[99 fdd dor afdd &1 afddal &1 U
2

(a) 1 (b) 1/2
(c) 2/1 (d) 574 &1 @IS =TE

32. U 9d f=4i-5j+3k U fd=g 1y =i+2j+3k )}
BRI 2 | a5 1,=3i-2j-3k & uRd: a1 et
HI AT BRI |

() =@ (b) 42i-30j+6k
(c) 42i+30j+6k

(33). A geat @1 AT &7o7 R H Ryggeax
qaF f3ar @1 amel 8 S, @ U faq § "oe
P

(a) 6 goe

(d) 42i+30j-6k

(b) 12 gve
(c) 18 goe (d) 24%ve

(34) U % DI GO TS Holl E Jo1 STsca
3Tt | 8 | 9%g BT DI [T BRI

(a) El (b) 2VEI

(c)V2EI (d) E/I

(35). ‘RBI—Hbvs’ = H | fhaa faar &
A 8-

(a) et
(b) St
(c) cm@

(d) =gTIaT oS



SECTION - B

36. The size of molecule can be measured
by:

(A) screw gauge

(B) optical microscope

(C) scanning tunneling microscope
(D) none of these

37. A vernier callipers has 1 mm marks on
the main scale. It has 20 equal divisions on
the vernier scale which match with 16
main scale divisions. For this vernier

callipers, the least count is :
(A) 0.02 mm (C) 0.1 mm
(B) 0.05 mm (D) 0.2 mm

38. If mass of box is 1.0 kg and mass of
gold ring is 30gm. Then total mass of box
and ring in siginificant figure is:
(A)1.030kg (C)1.0gm
(B) 1.03 kg (D) None

39. A man can throw a stone to a
maximum distanceof 80 m. The maximum
height upto which he can throw with same
speed :

(A)30 m (B) 20 m
(C)10m (D) 40 m

40. watt/ kelvin is the unit of:
(A) Stefan's constant

(B) Wien's constant

(C) Cooling's constant

(D) Thermal conductance

36. 3TU] % AL [ ToheTeh FILT ATHT ST
qhdT &

(A) T=raTdY

(B) STRTTO qemasft

(C) ThTAT AT Fewaeft

(D) FTE &

37. U FHaT Fferad ¥ T&F T9H 12 1

mm = e gia g1 af=a¥ =het 9% T8
20 FLEY RATSI & ST 16 BT &6l
AT % 91 A =@ g1 3 AiaY
FATTH o [T, SETqHH o

(A) 0.02 mm

(C) 0.1 mm

(B) 0.05 mm (D) 0.2 mm

38. T osa T 7| 1.0 FohIT ¢ &
T |1 &l SNST T FAHE 30 TTH g1 T
fesel 3TT SRIET T Fel FHHTT ATAF Al

Hg

(A) 1.030 kg

(C)1.0gm

(B) 1.03 kg (D) None

39. U {<h U YeI< &l FATeHdH 80 m
X T AhdT § AT ag SATh ST T¢I &l
FiArsraw FRaeT ST I T

(A)30m

(B) 20 m

(C)10m (D) 40 m

40. i [Ffea zare 2
(A) TR Feoreien i
(B) &I Teoreian it

(C) oftaer Feorier &t
(D) STHTT ATARAT il



41. The resistance R =V/I where V = (100 *
5) voltsiandi= (10 £ 0.2) amperes. What
is the total error in R:

(A) 5% (C) 2.5 ohm

(B) 0.7 ohm (D) 5.2%

b _ Jabe®
42. A physical quantity d*e™ s
determined by measuringa, b, c,dand e
separately with the percentage error of
2%, 3%, 2%, 1% and 6% respectively.
Minimum amount of error in
measurement is contributed by :

(A) b (B) a
(C)c (D) e

43. The sun's angular diameter is
measured to be 0.53°. The distance D of
the sun from the Earth is 1.496 * 1011 m
What is the diameter of sun:

(A) 1.38 * 10''m (B)2.76 * 10° m
(C)1.38*10°m (D) 6.9 * 10''m

44. A body thrown vertically upwards
direction it passes from same height at 4
sec and 6 sec respectively. Then find total
height reached bybody (g=10 m/s2)

(A)150 m (B) 125 m

(C)200m (D) 250 m

45. A ball is released from the top of a
tower of heighth metres. It takes T
seconds to reach the ground.What is the
position of the ball in T/3 seconds :

(A)h/9 metres from the ground

(B) 7h/9 metres from the ground
(C) 8h/9 metres from the ground
(D) 17h/18 metres from the ground

41. T&AT g IaUg R = V/I SI@t V =
(100 + 5) FTe idAT i = (10 £ 0.2)

UR9IT g, a7 R ¥ el Ff< gAML
(A) 5% (C) 2.5 ohm
(B)0.7ohm (D) 5.2%

42.a,b,c, dTAT e F ATIT & gIIT
Jabc?

N T STaT 81 afTa, b, ¢, d
AT § Tfaerd Jieam wHeT: 2%, 3%,
2%, 1% TAT 6% Bl qa o H & fohe
9T T P T ITaera i & ==aw
TR &

(A) b (B) a

(C)c (D) e

43. T3 T FHIO1F AT 0.53° qTT
TAT| T 3T IZAT o S 1= ol g4 D T
AT 1.496 x 10 m BT T gF & ATH
EARICREREIRANIE

(A)1.38*10''m (B)2.76 * 10° m

(C)1.38*10°m (D) 6.9 * 10''m

44, TF T AT Seata< far § T
STAT gl a9 98 ITHIT S49Ts &l 4 sec
T 6 sec H [oTLAT g| T T hl T
FHATE AT (g = 10m /s2)

(A)150 m  (B) 125 m

(C)200m (D) 250 m

45. h $ATs § UF < &l SIST J1dT 2|
a9 9 THo | HETH T Tg=dl 2l
T/3 §0 ¥ 3= &t F4T AT M

(A) HETH T FATL 9T h/ 9

(B) HETH & 7h/9 4TS U<

(C) HETT & 8h/9 FHHATs U<

(D) HETT & 17h/18 FATS




46. If the velocity of a particle is v=At +
Bt2, where Aand B are constants, then the
distance travelled by it betweent=1stot
=2s:

(A)3/2 * A+ 4B (B) 3A + 7B
(C)3/2*A+7/3*B (D)A/2+B/3

47. The displacement of a particle is given
by x(t) = (t — 2)2, where x is in metres and t
in seconds.

The distance covered by the particle in
first4sis

(A) 8 m (B)4m

(C)12m (D) 16 m

48. A ship A is moving westwards with a
speed of 20 km h~tand a ship B 100 km.
South of A, is moving northwards with a
speed of 20 kmh™! .The time after which
the distance between them becomes

shortest, is :
(A) 2.5 h (B)5h
(C)5v2 h (D) 10v2 h

49. A car travelling at a speed of 30 km/h
is brought to a halt in a distance of 8 m by
applying brakes.

If the same car is moving at a speed of 60
km/hr then it can be brought to a halt
with same brakes in:

(A) 64 m (B)32 m

(C)16m (D)4 m

50. A particle experiences constant
acceleration for 20 seconds after starting
from rest. if it travels a distanceS; in the
first 10 seconds and a distance S2 in next
10 seconds, then:

(A) S2= 51

(B) S, =25,

(C) S, =35,

(D) S,=45;

46. 7fa freft T T AT v = At + Bt2 8, SRl
AR BATal® 8, dat=1sHt=2s%
ST 38 g =t Tt 14

(A)3/2* A+4B (B)3A+7B
(C)3/2*A+7/3*B (D)A/2+B/3

47. T T 7 faeqmae fear smar g
XO= =2V 5=t x fie # i AFve 7 2

T o ZIXT T 4s § FoAT T4 T &
(A) 8 m (B)4m
(C)12m (D) 16 m

48. T STgrel A T2 f=erm it 3T 20 km
h-1 T =T & T X L@l ¢ Teh S8 B
STt A 100 ToheTo aferor § 8 20 km h-1
T 3T fRer it 3T I < @1 8| 98 997
TSTeeh 9T& 3o S ol g3I +IAqH g
ST T

(A) 2.5 h (B)5h

(C)5V2h (D) 10v/2 h

49. TH 1T 30 km/h & AT & I Lol gl
ST T 9¥ 9g 8 m TN aF &Ldl gl Al
AL FHTT 1T 60 km/hr i =TT | =T
ol gl T9 ag Foha« gl 9T il I

zqd AT AT 9 A 1

(A) 64 m (B)32m

(C)16m (D)4 m

50. 2o TF=AT | UF F7 U< [HIq caeor
20 Fo = orT &Rrar g1 I 98r 10 50 |
g S, T TT FLAT & TAT 3T 10 H0 § a8
S, TF LAl g, aa:

(A) Sp=5;

(B) S, = 25,
(C) S, =35,
(D) S,= 4S,



BIOLOGY(SECTION-A)
(51). Bionomial system of

Nomenclature given by :
(a) A.P. de candolle

(b) Linnaeus

(c) E. Mayr

(d) whittaker

(52). Linnaeus classification of plant
is mainly based on:

(a) Stamen  (b) Carpel
(c) Petal (d) Sepal
(53). All living show:

(a) Growth

(b) reproduction

(c) Metabolism
(d)Both1 &3

(54). Smallest unit of
classification is .

(a) Genus (b)Specins

(c) order (d) Kingdom

51. AH®RYT &I fga=¥ ugla g™ &l
LR

(@) TodloSio HusTell

(b) ot

(©) ¥ AR

(d) faecan

(52). drenm @1 forf=o g1 ufaanfed
TRROT TR &

(a) @R (b) afctepr

(c) & (d) arza <
(53). &1 Sifad yalRid oxd &
(a) 9fe

(b) S99

(c) wfaat

(d) fawea 131R 3

(54). THROT BT FeATH SHIY o
(a) der (b) ST

(c) T (d) frrsH



(55).According to five kingdom
classification,multicellular
heterotropns are included in

(a) Three Kingdom

(b) One Kingdom

(c) Two Kingdom

(d) Three Domin

(56). Basic of Two Kingdom was:

(a) all wall (b) Nucleus
(d) pigment

(c) Nucleolous

(57). In Paddy field blue green
algae are grown:

(a) For Medicinal use

(b) To increase soil fertility

(c) To serve as food & fishes

(d) To consere water

(58). Teichoic Acid is present in:
(a) Ve+ Bacteria

(b) Ve- Bacteria

(c) Mycopla

(d) Cyanobacteria

(55). U= ST TR H IEHIDHIA
AT Affera fea T @

(@) = STa

(c) dfrsar (d) aviw

(57). 9 & wWarl ¥ I s8R Jard
SUIERCI S

(@) siiwfe g &g
(b) FedT @1 Iavdr 9 =g
(c) ¥ro v woforal & forw
(d) STeT Hae 2q

(58).fcpIs®d 3l URIT ST % |
(a) I uifstfea SaiRan
(b) w1 fifea sadiRan

(C) ATZPIATSHT

(¢)ISIERICESIREI)



(59).Causal organism of citrus

canker.
(a) Bacteria  (b)Virus
(c) Fungi (d) Algue

(60). Kingdom Protista
Established by

(a) J.K.Eberth (b)J.L.Lister
(c) H.w.Florey (d) E.Haeckel

(61).Sexuality in Bacteria by
Tatum & Lederbery.1942 show
those Bacteria

(a) Coccus Bacteria
(b) Vibria Coli

(c) E. Coli

(d) Streptobacillus

(62).Example of purple sulphur
Bacteria

(a) Chromatium
(b) Thiocapsa
(c) Amoebobactor

(d) All of these

(59). RIgd HHR BT IMT R o—

(a) SRR (b) ararvw
() Baw (d) wrarer
(60).mifexer STa <erfud foar:

(@) Stodmoueef

(b)SToucioferRex

(EIEETREIN

(d) 0 s

(61).JFEIRIT H ffrpdT B 2w TG

SrexaT 1947 # fra dRAT H
gefRd @ |

() drew SFaRaT
(b) fafear drems
(c) 20 PIcTTS

d) SEeRres
(62). SN TeT Sf@TY] BT SETERT ¢ |



(63). Clamp connection are found. (63). frep=TT §&9 9T ST ® |
(a) Basidiomycetes (a) SRafSIHTE RIS

(b) Ascomycetes (b) TR

(c) Oomycetes (c) IRMMERIES

(d) None (d) @Ig 41 &1

(64). Asexual Reproductiion in (64).padT 7 eifiid <=+ BT B
Fungi Occurr by (a) TR

(a) Aeciosposes (b) AR

(b) Basidoosposes (c) BrfeT

(c) Conidia (d)oreeired

(d) Oospares (65). TITT BT ST

(65). Study of Fungus: (a Jreapraiioh

(a) My cology (b)igaicio

(b) Phycology (CyTeTEi

(c) Algology (TRt

(d)Vovology (66).@aTch! BT BTN BT q 3T
(66).Main component of Fungal gl

cell wall. (a) el 50%+30% HrgicH
(a) Glaucon.50%+30%Chitin (b) wrsfes

(b) Chitin OREEDS]

(c) Glaucon (d)®refeT + TdlpeE
(d)chitin+Glaucon




(67). Which of the following
fungus can cause disease in
human?

(a) Aspergillus
(b) Ustilago
(c) Mushroom
(d) puccinia

(68).Among Rust, Smut &
Mushroom all the three:

(a )JAve pathogenic

(b) Saprophyte

(c) Basidimycetes

(d) Ascocarp

(69).Virus are made up of
(a) Only Nucleic acid

(b) Only protein

(c) Protein +Nucleic acid
(d) Lipid & Protein

(70) lichen are associative of
(a)Algal & Fungi

(b) Algal & virus

(c) Fungi & root of plants
(d) Algal & Bryophytes

(67). 9 AT HaH TIOET H T BT
PRE ©:

(a) TR ST
(b)srRea

(69). fawroy T BT =
(a)paer ~Ffderd RIS
(b)@ae Ui

(c) M @R ~yfdeid TRTS
(d) fafdrs iR UidH

(70). TTgDH- AR &

(a) 2raTall Ud PHab

(b) Srarart e fawrg

(c) wad TG Ul Bl TSl
(d) Frarelt Td SrThIgCH




(71).Which of the following is correct
about viroids

(a) They have RNA with protein Coat.
(b)Abnormally folded proteins
(c)Free RNA without Protein coat
(d)Free DNA without Protein coat
(72). Chilgoza pine are:

(a)Seed of Pinus gerardiama

(b)Seed of pinus merkussi

(c)Seed of pinus roxburghi

(d)Seed of pinus wallichiana

(73). Achlorophyllous, spore bearing
eukaryotic organism are:

(a) Pteridophytus
(b) Bryophytes
(c) Fungi

(d) Algae

(74). Litmus paper are obtained
from:

(a) Ramalina
(b) Rocella tinctoria
(c) Cetraria

(d) Orchil

(71). TRRIESE B AR A T FA &
(@)% ARTALH WA Hre ffed &
(b)emoar =T T UIEH ®

(c) g AIRGA. &1 Ui gard

(d) g SruAT. 991 W gad
RECUSIRIES R

(a) Utz RwifSamen & §iw

(b) wrETH RET T drer

(c) urgy Rfaaaeig & dr

(d) gz defifeem=n & 9=

(73). UoTERH IfEd SISITY] SR DR
arel JHRATMCH 9 &



(75). Shilapuspa are called:

(a) Parmelia spp

(b) Lecanora spp

(c) Rocella spp

(d) Cladonia spp
(76).Transfusion tissue are similar to:
(a) Companion cell

(b) Sieve tubes

(c) Pith

(d) Tracheids

(77). Plasmid are:

(a) Virus

(b) New type of micro organism

(c) Extra chromosomal genetic material of
bacteria

(d) Essential bacterial genetic material
(78).Typhoid and Tetanus are caused by-
(a)Bacteria (b) Virus
(c)Viroids (d) fungi
(79). Viroid are discovered by:
(a) Haeckel

(b) Pasteur

(c) T.O.Diener

(d) Thephrastus

(75). RIS HEATT &

(a) TrAferaT o1 Sfort

(b) =Rt @1 ARt

(c) I @1 Sfordt

(d) eI @1 Sfordt
(76) HART Hddb Hel W o
(@) T=BIR®HRI

(b) T AfermIaN

(b) &= g&u S

(c)daERar &1 faRad MM AxaR
(d) daIRar &1 emaad Sifdfed HSRTA

(78). SIBITS T4 e & BRG &

(d) pas

(@) b



(80).Gymnosperms Plant are:
(a) Homospomes

(b) Heterosporus

(c) Both

(d)Without spores

(81). Mycobiont and phycobiont are
found in:

(a) Mycorrhiza (b)Root

(c) lichen (d)BGA
(82).Cyanobacteria are classified under
(a) Protista

(b) Plantae

(c) Monera

(d)Algae

(83).Vast majority of Bacteria are

(a) Symbiotic

(b) Autotrophic

(c) Heterotrophic

(d)Nitrogen fixing

(84).Sepetate and Branched my celinum
Is found in

(a) Basideomycetes

(b) Deuteromycetes

(c) Ascomycetes

(d) all of above

(d) fa=T drofroy oy dier

CYRSESIE

(d) srggo™ wfidRor

(84). g Td 2RI e SiTel Il
ST ® |

N O

(c) TEhIHTSRICTS

(d) SwRad a+ |




(85). Which is the dominant phase of
Gymnosperm

(a) Gametophyte
(b) Sporophyte
(c) Spores

(d) Gametes

BIOLOGY( SECTION- B)

86. The main criteria for five Kingdom
of classification Includes:

(A) Mode of nutrition, reproduction

(B) Cell structure and body
organisation

(C) Phylogenetic relationship
(D) All of these

87. Bacteria which play a great role in
recycling nutrient like nitrogen,
phosphorous, iron and sulphur are:

(A) Anoxygenic photosyntheter

(B) Blue green algae

(C) Chemosynthetic autotrophic
(D) Photosynthetic autotrophic

88. Euglenoids have protein rich
layer instead of cell wall this layer is

called:
(A) Pellicle (B) Chitin

(C) Cellulose (D) Pectin

(85). for=IRue ey & JTdl YaRerT &
(@) HewEe

BIOLOGY( SECTION- B)

86. T ST a{ {07 o forT {e
ATevE forT o o

(A) T 26T T, TS

(B) FTTIRT TX=AT AT O HL=A4T
(OSUEESIREEEEC]

(D) & T+ft

87. AT ST HIEHRITH, AT 3T
HOHL ST qIHhRT o TA=HT H i
StraTo] Hgeaqul AT 9T 2

(a) TATFHSITA 19T GEOH
(b) ==t BT QAT

(c) THTI el E=rareT SfraTy
(d) STRTer Fepet T STaTy

88. . T35S o ITH Hiferet forfxr &
AT I TIEIT I<h qar sl 9 grar

& I U hEATT &
(A) UfrfFer (B) FTsfen

(C) &=t (D) Ufekee



89. Archaebacteria differ from other
bacteria in having:

(A) Composition of cell wall

(B) Composition of genetic matarial
(C) True nucleus

(D) All of these

90. Mad cow disease in cattle caused
by an agent which has:

(A) Polyhedraly arrenged protein
(B) Smaller size than bacteria

(C) Abnormally folded protein
(D) 2and 3

91. Dikaryon formation is
characteristic of:

(A) Phycomycetes andBasidiomycetes
(B) Ascomycetes and basidiomycetes
(C) Ascomycetes and phycomycetes
(D) Phycomycetes and deuteromycetes
92. How many matchings are correct :
a. Extreme salty areas — Halophiles

b. Hot springs — Thermoacidophiles

c. Marshy areas — Methanogens

d. Methanogens — Ruminant animals
(A) 3 (B) 4

(@2 (D)1

89. T TFEI AT THL ST |
T AT BT &

(A) FTTERT THT=T T Teres

(B) SITATTAF ATHIAT T Fere
(C) &gT Fv5

(D) =T

90. HATeT H H=ahre, AT daT
LA ATl e h 919 3 IaT o

(A) TEFHAHIT TEAT TIE

(B) ST & STIATO & FleT

(C) ATHHT & T HET g3l e
(D)2T= 3
g.%ﬁﬁﬁﬂmwﬁm—oﬁﬁm
(A) FTEHATERES 37 FReTmEREs

[enNEN aY

A EEICIERICIFREE

)

(B) UERIHTS]

o [ enNE &Y

ST 3T FISFHTS S

)

(C) UERHTS

[enNEN &Y

(D) FISHATS RIEIST 3T AT (el

92. fha=t sr&=adar 97 &

a. ACTETF ATV & - TATHISA
b. TH AT - AHT THIE[HIH

c. TAGAT & - HAFTSIT

d. HTIFIS - TR STeq

(A)3  (B)4

)2 (D)1



93. . Which of the following is incorrect
about chrysophytes:

(A) Chrysophytes includes diatoms and
and golden Algae

(B) Chrysophytes are found in freshwater
as well as in marine water

(C) They are microscopic and float actively
against water current

(D) None of these

94. . Match the column | and column Il and

choose correct answer:

Column | Column Il
A. Phycomycetes i. Agaricus, Ustilago
B. Ascomycetes ii. Mucor, Rhizopous

C. Basidiomycetes
iii. Alternaria,Colletotricum

D. Deuteromycetes
iv. Penicillium,Claviceps

(A)A-ii,B-iv, C-i, D -iii
(B) A-i, B - iii, C-ii, D - iv
(C) A-iv, B-i, C-ii, D - i
(D) A - ii, B - iv, C - iiii, D - i

95. In which organisms the cell walls form
two thin overlapping shells, which fit
togethar as in a soap box:

(A) Slime moulds
(B) Protozoans
(C) Diatoms

(D) Euglenoids

93. fAuferfag & & #sA®wEaT F I d
I 97 TAd 5

(A) FTEETHEE H STUEH AT AL AT
AT 2

(B) FTSHIRIZEH T@=g TMI & ATA-HT
AT AT § AT 97T 57 &

(C) & e~ q&H TAT AT & faadiaq
qORT T H a3 g

(D) TTH T TS Tl

94. TITH | X TqEF || FT foem Fiforw
Sl Tt fasheT Fo: T | &89 ||

A. FTSHTHTS TS

g [N o
I Udend, Sflec o]

oo .o
B. TERTHTZ [HITS 1. +ene, <leslid

I IERIEIFLEES iiil. TeaTa T,

A CACAEER:

iv.afaeTer,

D.S TS el

FAAHTT

(A) A-ii, B - iv, C- i, D - iii
(B) Ai, Biii, C - iii, D - iv
(C) A- iv, Bi, C - i, D - iii
(D) A-ii, B - iv, C - iii, D —i

95. T Sttar & ITAT TH<At ATERT it
T@ T F ageEu o AfderRa wew
AT B

(A) TITEH HIogH
G RIEEIERS
(C) ST=RUZH

(D) TrATeTI=E



96. Funaria plant body is attached to the
substratum by

(A) Rhizoids (B) Stripe
(C) Holdfast (D) Root
97..In cycas

(A) Male cones and megasporophylls are
borne on same trees

(B) Male cones and magasporophylls are
borne on different trees

(C) May be on same or different trees

(D) Both 1 and 2

98. Given are a few statements

(a) Important soil binders

(b) They are the first terrestrial land plant
with vascular tissues

(c) Cones are present

Choose the option for which all three
statements hold true

(A) Ulothrix (B) Pinus

(C) Cycas (D) Equisetum

99. The space between hump and mantle
is called mantle cavity in which ....... A......
are present:

(A) A —foot

(B) A —feather like gills

(C) A—Radula

(D) A—Eye

100. . In coelenterata cnidoblasts are used
for:

(A) Anchorage

(B) Defense

(C) Capture of prey

(D) All of the above

96. TIATAT GTe AT T AT | Foheeh

AR SR
(A) T=TH

(€) Frewres
97. ATZHA |
(A) U7 I TAT BREATATRS TF g1 are
qea g

(B) T I TAT AVTEAILIheA ST T 3T
orer # et g

(C) U= B IT A-3TAT GTell | HeTd &
(D) 1 T 2 &AL

98. Fg FHAA [&d T &

(a) FET (W T

(b) T TIH TIATT 9T g S8 Tagd S
OEIRRIPEIGE

SR il woe foheen o gt 8

(A) TS (B) AT

(C)aT=FA (D) THITaH

99. TFE TAT TAT & 1 o TATT &l TATT
TET Fgd g oEH ... A, TTT ST &
(A) A-TT

(B) A - T F HHIT FIIH

(C) A-TEITSTegT (T5)

(D) A - 3T &

(B) ¥T=H
(D) ST

100. HToTeeaT | A IeATES T ITANT Toheeh
faT graT e

(A) TS

(B) =T

(C) forerTe T Tehg & forw

(D) SUIH THT




CHEMISTRY(SECTION-A)

Q101. The number of molecules in 8.96 L
of a gas at 0° and 1 atmosphere pressure is
approximately.

(a) 6.02 x 1023

(b)12.04 x 1023
(c) 18.06 x 1023
(d)24.08 x 1022

Q102. 74.5g of a metallic chloride contain
35.5g of chlorine. The equipment weight
of the metal is.

(a) 19.5 (b) 35.5
(€)39.0 (d) 78.0

Q103. The mlecule weight of a gas is 45,
its density at STP is

(a)22.4 (b) 11.2
(c) 5.7 (d) 2.0

Q104. The proton and neotron are
collectively called as

(a) Deotron

(C) Meson

(b) Positron

(d) nucleon

Q105. The charge on the atom containing
17 Protones 18 Neutrons and 18 electron is

(a)+1 (b) -2
(c)-1 (d) Zero

Q106. The de-Broglies wavelength
associated with a paricle of mass
10~®kg moving with a velocity of
10ms~1,is

(a) 6.63 X 107%%m
b)6.63 X 107%°m
(b)
€)6.63 X 1073'm
()
d)6.63 X 1073*m
(d)

Q101. 0°Ua [arg Hvsd a9 R &l 9 & 8.
96 CICRHITIRIT BT AT SHTHITBITG |

(a) 6.02 X 1023

(b)12.04 x 1023
(c) 18.06 x 1023
(d)24.08 x 1022

Q102. 745 U™ o1 FARTSS H 355 UTH FANA

IuRexh € A1 O1d_®T Jodid! R 2 |

() 19.5 (b) 35.5

(d)39.0 (d) 78.0
Q103. fHel 9 &7 VMR 45 & 39T STP W
R[S

(b)22.4 (b) 11.2

(©) 5.7 (d) 2.0

Q104. UieH 3R =g BT HIad wd ¥ BHad
g

(a) ST (b) wrShEr

(c) faereita  (d) M=

Q105. fHdT U=A] H 17 Ui, 18 JgI= AT
18 SCIFCI 8 99 UR AT BT

(a)+1 (b) -2
(c)-1 (d) Zero

Q106. 10 ms™1a 7 ¥ T g410 kg arer
P W I g S-aTe s B

(2) 6.63 X 1022y
(b)6.63 X 1029z
(¢) 6.63 X 10~ 31¥ex
(d)6.63 X 10~ 34wiex



Q107. The cricket ball of 0.5 kg is moving
with a velocity of 100m/sec. the
wavelength associated with its motion is

(a)1/100cm  (b) 6.6 X 1073*m
(b)1.32 X 10735(d) 6.6 X 10~28m

Q108. If uncertainty in position and
momentum are equal, then uncertainty in
velocity is

%Jé (b) |~
© 3 J§

Q109. Which is the around state

1 EEEE

1) (1 B

s e

(3) 10

@ AR EE R

Q110. The four quantum numbers of
the outermost orbital of K (atomic no.
=19) are

()n=2, 1=0, m=0, s = +
(b)n=4, 1=0, m=0, 5 = +
(©)n=3,1=1,m=1,s = +%

(d)n=4,1=2, m=-1,s = +-
Q111. The kinetic energy of an electron in

the second bohrorbit of a hydrogen atom is
[ay is bohr radius]

h? h?
(a) 412 mag? (b) 16 2magy?
h? h?
() (d)

3212 magy? 6412 mag?

Q107. 0.5 kg @1 fohae dfa 100910 / T
& T AT § 9] I F ST el &

(a) 1/100 3%

(b)6.6 X 107 3%#ex
(c) 1.32 X 107 35ex
(d)6.6 X 1072 #ex

Q108. afe Req T a1 @ HR=ddT FH e,
TIRT B AfREaar BrFfi—

(a)ﬁﬁ (b) |~
(c)ﬁﬁ (d) |~

Q109. f=1# &1 B T eraven # ¥ |

; | 1 ZEEE
C P e i )
3k
()IL
TS EEEE
@ g BT I
1

o T R
(i

(N &
]

Q110. K (wAm] 1. =19) & arsdH
HeTh DI IR FITUSH AYg |

(a)n=2, 1=0, m=0, s = +%

(b)n=4, 1=0, m=0, 5 = +

(c)n=3, 1=, m=1,s = +%

(d)n=4,1=2,m=-1,s = +-

Ql11. v& ggsoe WA H g bohr wer
H gotag @ TR ol

kinetic energy [a, is bohr radius]

h? b h?

(a) 412 mag? ( ) 1612 magy?
h? h?

(C) 3212 magy? (d)6471'2 mag?



Q112. The graps between |@|? and r
(radial distance) is shown below. This
represents

(a) 35 orbital  (b) 15 orbital
(c) 2P orbital  (d) 25 orbital

Q113. How many o and m bonds are there
in molecules of tetracyanoethylene.

NEC\C ] C/ C=N
NEC/ \ C=N

()90 and 9t (b) 50 and 7n
(¢))9c and 7w (d) 50 and 8w

Q114. Geometry of ammonia molecule and
the hybridization of nitrogen invelvedin it
are

(a) sp3® — hybridization and distorted
tetrahedral geometry

(b)sp3® — hybridization and distorted
tetrahedral geometry

(c) sp? — hybridization and triangular
geometry

(d)None of these

Q115. The geometry of the molecule with
sp3d?hybridization central atomis

(a) Square planer
(b) Trigonal bi pyramidal
(c) Octahedral

(d)Square pyramidal

Q112. |p|?Ten r (fsTa g) & &g 1%
wefRid & | g8 <Nl © |

(a) 35 Petd (b) 15 P&
(c) 2P P& (d) 25 P&Th

Q113. Sgrr=T TiRIel= 319 H foha

oand

TR |

NEC\C o / C=N
NEC/ \ C=N

(a)9c and 9t (b) 50 and 7n
(¢))9c and 7

Q114. JHIfFT ] ST @ik ATSgIo A
AR 2 |

(d) 50 and 8n

(a)sp>® — Faxvr AT ATHAHI SATHAT

(b)sp3 —dxor qoIT fagpd agshar
ST

(c)sp? —<dxoaen ey sy

(d)sTH & DIEgTEl

Q115.39 ] &1 Sarfacdt @ 8rf forqan
A RATsp > d 2 /BRI B |

(a) T FHA

(b) By g
(¢) ICHeD I

(d) T R



Q116. Match list 1 with list II, select the
correct answer using the codes given
below the list.

Q116. diaw—1 &1 diew— 11, ¥ e
DHINTY RIS SR B a9 gl & A T T

TR Bl BT SUAN BRD ST |

List [ List IT P aﬂ’aﬂ;— 2
) Type of (3797/ 3ma) (FHRUT & YD)
(Molecule/ ion) hylgri}(]lri)zation) A. NH4* 1 sp3d3
A. NH4* 1 sp3d3 B. Pcl; 2 sp3d
B. Pcly 2 sp3d C. SF6 3 sp?
C. SF6 3 sp3 D. IF7 4 sp3d?
D. IF7 4] . sp3d? SIS
Answer Code: (a)3 2 4 1
ATy S W
()3 2 gl ©) e " T 4
byl 2 S8y 4 @4 RSP W
©2 3 1 4
(d)4 i o) B Q117. Xef6#Xed! ifariTanxor arawell, Hhv

Q117. In Xef6, Oxidation state and state of
hybridization of Xe and shape of the
molecule are respectively.

(a)+6,sp3d3, distorted octahedral
(b) +4,sp3d?, Square planar
(c)+6,sp> Pyramidal

(d)+6,sp3d?, Square pyramial

Q118.Arrange the following in the
increasing order of their bond order

0,,0,7,0,, and 0,

(a) ,02+,02_,022_

(b) 0,7,0,%70,7,0,7.0,%,0,
(C)02+1 021 02_, 02_, 022_

(d) 0,0,,0;"

Q119.Which of the following molecule is
paramagnetic

(a)Chlorine (b) Nitrogen

(c) Oxygen (d) Hydrogen

AT Y[ DI AT HAM:
(a)+6,sp3d3, fapd schas
(b)+4,sp3d?, ot FHd
(c)+6,sp3 A
(d)+6,sp3d?, TR

Q118.0,,0,%,0,”, and 0, &I g7 g
PHH b ded HH H IIRYT HIFOTT

(e) '02+'02_'022_

(f) 02_1 022_02_, 02_,02+, 02

(8) 02+, 03,0, ,0;,, 022_

(h) 02/ 02, 02+
Q119. F=feiRaes | I A1 3F07_ gD
=

(a) TR
(c) sifedrsT=

(b) ArsgrIoH
(d) rsgrom




Q120. Match list-1 with list-2

Q120. g&—1 HIAATGAI— 2 | B

List-1 List-2
A. | Pclg I Square Pyramidal
B. | SFg I Trigonal Planer
C. | BrFs 1 Octahedral
D.| BF; IV | Trigonal bi pyramidal
Choose the correct answer from the options
given below

1. (A)-(ID), (B)-(1D), (C)-(1V), (D)-(D)

2. (A)-(1D), (B)-(D), (©)-(AV), (D)-(1I)

3. (A)-(IV), (B)-(IID), (C)-(1), (D)-(I)

4. (A)-(IV), (B)-(IID), (C)-(D), (D)-(II)
Q121. At what temperature is the

average velocity of O,molecule equal to
the root mean square velosityat27°C

(a) 80.57°C
(c) 83°C

(b) 80°C

(d) 86.5°C

Q122. A cylinder of gas suppiliedby Bharat
Petroleom is assumed to contain 14kg of
butane. If a normal family requires 20,000

Kg of energy perday for cooking, butane gas
in the cylinder last for Days.

(AHc of C,H,y = —2658 KI per mole)

(@) 15days (b) 20 days
(c¢) 50 days (d) 40 days
(e) 32 days

Q123. The relation between AG and
AH is

(@) AH =AG—TAS
(b) AG = AH —TAS
(c) TAS—AG = AH
(d) AH =TAS+AS

R Gl
A.| Pclg I Square Pyramidal
B.| SF; II Trigonal Planer
C. | BrFs III Octahedral
D. | BF; IV | Trigonal bi pyramidal

o

R RIfdhdH § HeSaRg-—

5. (A)-(ID), (B)-(IID), (C©)-(1V), (D)-(1)

6. (A)-(IID), (B)-(D), (©)-(1V), (D)-(II)

7. (A)-(IV), (B)-(I1D), (C)-(11), (D)-(1)

8. (A)-(IV), (B)-(IID), (C)-(I), (D)-(II)
Q121.f5H ama 4R eI 0BT &I A oI
27°C TR I ARG HA T B SRR BRTT |

(a) 80.57°C (b) 80°C
(c) 83°C (d) 86.5°C
Q1225 & ugiferad gRT Iwirs fha T

RrcivsR # 14 fhaum™ areq © @t v =
gRAR BT HIod b= & oI 20,000fH A
Sl afdfes =2y a1 Rieivst &1 e ¥
fhds faar & @ 8l

(AHc of C,Hyy = —2658 KI per mole)
(@) 15 fam  (b) 20 fa=iH
(c) s0 feE  (d) 40 fe=iH
(e) 32 fe=r
Q123.AG T AH H 994 2 |

() AH = AG —TAS
() AG =AH —TAS
(g) TAS—AG=AH
(h) AH =TAS+AS




Q 124. Equal volumes of two
monoatomic gases, A and B, at same
temperature and pressure are mixed.
The ratio of specific heats (Cp/Cv) of the
mixture will be.

(a) 0.83
(d) 1.67

(b) 1.50 (c) 3.3

Q125. Two gaseous eqvilibriaSo,(g) +

~0,(g) = S05(g)and 2 S05(g) =

250, + 0,(g)have equilibrium constants
K1 and K2 respectively at 298k. Which
of the following relationships between
k1 and k2 is correct.

(a) K1=K2 (b) K2 = K12

1 1
Q126. In the manufacture of NH3 by
Haber’s process, the condition which

would give maximum yield is
N2+ 3H2 =2 NH3 + Q Kcol

(a) High temperature, high
pressure and high
concentrations of the reactants.

(b) High temperature, Low
pressure and low
concentrations of the reactions.

(¢) Low temperature and high
pressure

(d) Low temperature, Low
pressure and Low
Concentration of H2

Q127. According to bronstedlowry,
water is a/am

(a) Base (b) Acid
(¢) Acid and base both (d) Salt

Q124. ¥ a9 3R @ W &I AFT TeiHd
i, A and B, @ sRTeR 3mgad e Sird

2 fs1or @1 emuféres oA (Cp/Cv) &7 S1uTa
BT |

(a) 0.83 (b) 1.50

(c) 3.3 (d) 1.67

Q1.25. < i @r=iiSo,(g) + 5 0,(g) =

S05(g)and 2 SO5(g) = 2So0, + 0,(g) &
A ReRiw298k. w wer: K1 and K2 € k1

and k2 & do fF=faRag aw=ai & 9 o9 ar
SR

(b) K1=K2

(b) K2 = K12

Ay -1
(0) K2== (d) K2=—

Q126 == fafy & srfrmaH ™ f
JTARAT R T BT Sl 2 |

N2 +3H2=2NH3 + Q Kcol

(a) oIS M, ¥ 16, Ud SWBHBT B
Jed A=l

(b) e/ dM, HF I@ qAT ABHBT B
B AT

(c) ¥ dM quT Af¥s <

(d) @9 Y BH <9 TAT BISSISH Bl BH
AT

Q127.d~<e Rigid & T 9R 9d 2 |
(a) &R (b)3rt

(c)3reiiR eRaHI(d) oo



Q128. A buffer solution has equal
volumes of 0.2 m NH4 OH and 0.02m
NH4 Cl. The Pkb of the base is 5 the PH

1S..
(@ 10 ()9
(© 4 d) 7

Q129. Which of the following is lewis
acid.

(a) BF3
(¢) H20

(b) CI~
(d) NHs

Q130. Pressure cooker reduces cooking
time for food because

(a) Heatis more evenly distributed
in the cooking space

(b) Boiling point of water involved
in cooking is increased

(c) The higher pressure in side the
cooker crushed the food
material

(d) Cookinginvolves chemical
changes helped by a sise in
temperature

Q131. The boiling point of a solution of
0.1l gm of a substance in 15 gm of ether
was found to be 0.1°C higher than that of
the pure ether. The molecular weight of
the substance will be (Kb=2.16)

(a) 148
(c) 168

(b) 158
(d) 178

Q132. Which one is not equal to Zero for
an ideal solution

(a) ASmix
(¢) AP = Popservea — Praouit

(d) AHmix

(b) AVmix

Q128. % g9 fderaw & 0.2 m NH4 OH tq
0.02m NH4 Cl. & |9 3maa+ g |
eRHTPkb= 5 2 [@PH 2 |

(a) 10 (b) 9
© 4 ()7
Q129. Frefi & B orde o ¥ |
(@) BFs  (b)Cl™
(c) H:0 (d) NH3

Q130. R HFHR A & YHM & oI T
HeTdl ©, Hild

(a) IR FHHR |IoH H S Af&d T BT A
faaRa grdl 2 |

(b)ST T Fad ST UH ¥ ST 29T 2 |

(C)J/AR H AP T HIoy T Bl FAAT ¢ |

()@ T 9T e e gRadd @ R
q¢T T ATIH A& el © |

Q131. 0.1 u<ref &1 15 9™ SR # 9
e &1 FaeA® g $2R ¥ 0.1°Carfes urn
T | uaref & o] YR F1 &N (Kb=2.16)

(a) 148
(c) 168

Q132. arey faergd & fory s a4 I &
SRTR el BT |

(a) ASmix
(¢) AP = Popservea — Praouit

(d) AHmix

(b) 158
(d) 178

(b) AVmix



Q133. What will be the molality of a
Solution having 18 gm of glucose
(mol.wt.=180) dissolved in 500g of
water

(@) 1m (b) 0.5m

(c)0.2m (d) 2m
Q134. The solution in which the blood

cells retain their normal form are with
regard to the blood

(a) Isotonic (b) Isomotic
(c¢) Hypertonic

Q135. The Osmotic pressure of a
solution is given by the relation

@ P== (b)P==
(© P== (d)z=RT

(d) Equinormal

Q133. 39 O BT AleterdT &7 81 R 18

UTH ThI(3TT[HR = 180) 500 UTH SieT H eIl
g3 BT |

(b) 1m (b) 0.5m
(c)0.2m (d) 2m

Q134. gz faeraq f5TaH Yad B BIRBTY

g Reafa # &l g Y99 & amve
(a) FRE 7 (b) srgddfe® &
(c) ETRWCINS = (d) T

Q135. =% & 9 a1 G faemd &
TRIARYT &9 I HRATE |

@ P== (b)P==

RC

(©-B= — (d)==RT



CHEMISRTY(SECTION-B)

136. How many electrons of carbon have
n=2,1=1:

(A)4 (B) 6
(€)2 (D)3
137. The correct relation is :
(1) E=hcv
(3) E=hca

(2) E=ho
(4) B= he

138. The radius of H-atom in the ground
state is 0.53A. The radius of Li2+ ion's
ground state is :

(a)0.53A  (b) 1.06 A
©)0.265A (d)0.17 A

139. The number of protons in Ca2+ ions
are :

(A) 18 (C) 22
(B) 20 (D) 24

140. Which of the following is the correct
order of bondangle in H2S, NH3, BF3and
SiH4 :

(A) H2S < NH3 < BF3 < SiH4
(B) NH3 < H2S < SiH4 < BF3
(C) H2S < NH3< SiH4 < BF3
(D) H2S < SiH4< NH3< BF3

141. O-0O bond length order in Na202,
KO0O2,03,02:

(1) Na202 > 03 > KO2> 02
(2) KO2 > Na202 > 03 > 02
(3) Na202 > 03 = K02 > 02
(4) 02 > 03 =02 > K02

136. FTE o R TAFTH o 9T n=2 &
I=1%:

(A) 4 (B) 6

©)2 (D)3

137. Hel OFe &

(1)E=hev ~ (2)E=ho
(3)E=hcd  (4) E=hco

138. H-9ZHT T g1 7=t § 55971 0.53
A B\ Li+ (3 =t qo1 e § fB&ream
EILE

(2)0.53A  (b)1.06 A

()0.265A (d)0.17 A

139. Ca2+ 33 H Il &l 9&AT g :
(A)18  (C)22
(B) 20 (D) 24

140. S+2T FI0T T Aol %A g : HoS, NHs,
BF, 3T SiH: 3

(A) HzS < NH3 < BF3 < SiH4 2
(B) NH3 < H,S < SiH4 < BF3
(C) H=S < NH3 < SiH4 < BF3
(D) HaS < SiH4 < NH3 < BF3

141. O-O T F¥TE FH Na.0z, KO», 03
3ﬁT O: ﬁ- élill -

(1) Na202 > 03 > KO2> 02
(2) KO2 > Na202 > 03 > 02
(3) Na202 > 03 =KO02 > 02
(4) 02 > 03 =02 > K02



142. 1 Debye is :
(A)3.3x1073°C-m (B) 6.2x1073°C-m

(C) 6.02x1073 C-m (D) 3.7x10724C-
m

143. How much water should be added in
order to dilute an aqueous solution of
HNO3 (200 mL, 0.5M) to decimolar
solution :

(A) 1000mL (B) 100 L

(C) 800 L (D)0.8 L

144. At 250C and 730 mm pressure, 380
mL of dry oxygen was collected. If the
temperature is constant, what volume will
be oxygen occupy at 760 mm pressure ?
(A) 265 mL (B) 365 mL

(C) 569 mL (D) 621 Ml

145. The correct expression for the vander
waal's equation of states is :

(a) (p + a/n2 V2) (V-nb) =nRT

(b) (p + an2/V2) (V-nb) = AnRT

(c) (p +an2/V2) (V-b) =nRT

(d) (p + an2/V2) (V-nb) = nRT

146. A solution is heated to raise the
temperature by Sunits, which of the
following concentration terms will remain
unaffected :

(a) Molarity  (b) Mole fraction

(c)Mass %  (d) Both 2 and 3

147. A gas is found to have a formula
[CO]x. If its vapour density is 70 the value
of x1s :

(a) 2.5 (b) 3.0

(c)5.0 (d) 6.0

148. If pressure becomes double at the
same absolute temperature on 2L CO2,
then the volume of CO2 becomes :

(@2L (b)4L

co)SL (@1L

149. Which of the following has maximum
number of atoms :

(a)20 gof S6  (b) 20 g of S2

(c) 20 g of S8

(d) All will have same number of atoms

142 1 A= FT AT :
(A)3.3x1073°C-m  (B) 6.2x1073°C-m
(C) 6.02x1073°C-m (D) 3.7x10724C-m

143. HNO3 (200 mL, 0.5M) 3 ST
e 1 aq w2 § fonae St Y
SAITHAT NI ATQ a Aea= SHH
g) 1000 mL (b) 100 L

(c) 800 L (d)0.8 L

144. 25°C F 730 mm 19 9¥ 380 mL [5F
AT ST TR sl | Ffe a9 Faq grar

760 mm T I AT (=T A=
BT

(A)265mL  (B) 365 mL
(C)569mL  (D)621 Ml

145, Fre2ale AHIHI g Aol [a&ed g :
(a) (p + a/n2 V2) (V-nb) = nRT

(b) (p + an2/V2) (V-nb) = AnRT

(c) (p + an2/V2) (V-b) =nRT

(d) (p + an2/V2) (V-nb) = nRT

146. U ST T TH FLA 9 (7T F 5
AT a9 97) Feferfea § 9 &9
TTATAT T

(a) MIAZar  (b) T TATS

(c) T % (d) T2 3T 3

147. T 39 T T [CO] g Ff3 3THT AT

TTd 708 AXFT A 3 -

(2) 2.5 (b) 3.0

(©) 5.0 (d) 6.0

148. 2L CO, F HTHT 94N a9 9% I =7

TRAT &2 37 1T 2 A1 CO, FT 3 Ia+d
IR

(@2L (b)4L

(5L (d1L

149. Meterfaa # & foread awaTorEt it

TEAT FaTta® gl
(a)20 gof S6  (b) 20 g of S2
(c) 20 g of S8

(d) =TT 3 9T FHIT TLHT g0



150. Which of the following has unpaired 150. sTATa=efT murfash FeqrF H a9 O

electon in the antibonding molecular fred s ZereT IUTRYd 2
orbital : (a) 02 (b) N2

(c) C2 (d) B2







